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Tdeneffardt geA / Guidelines for the Candidate

1. T99 Yftaehdict Te U9 SIS AT el Fasem Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRET SHATERTE ek UTsieh! (e TeaT=! W hied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufet g& guangd fageneat crrean |yut el et svaredt 30 fafe iften ae quamm
BECH

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQR IYGRETRALE TRUT 100 T ST Tedeh TYHTS! 2 T[0T 37T
This question booklet contains 100 questions each question carries 2 marks.
5. ©d U9 AISiul STavash 3TE. Yehiedl ScIaege MaTeedl TN $Haeare! SRR T[0T Tl het
SATUTR AR,
All questions are compulsory. There is no negative marking.
6. oNUTATE T UG fERT oot Wl A T
Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAHER hales Tehd Stal SNIsR AT, SNieR ISt Uhd

There is only one correct answer. Choose only one option for an answer.

8. eIl UH WIIUITaTS! eheles shiedl / THest T Sictu-=r o,
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........ccevvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

> @®OO®| [«x @GO W]
9. UReN HUCHTER gl ScUTIohT THALTERIEhE UXd Ul

Return the Answer Sheet to the invigilator at the end of the exam.

10. SATUET URET ShHTh TYTYREThar GEaT ToTgTal a Het TYgieceht URET ShicTaeiFaR e diad
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Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




1. e T SR e

Find the average of the following scores:
8,18, 20, 12, 32, 50
A) 23.33 B) 24.33 C) 21.33 D) 22.33

2. 3xy+5yz—Tzx 8 W 5xy—2zx+10xyz W =T HeaTd YUTR IR VT ?

Subtracting 3xy+5yz-7zx from 5xy-2xz+10xyz get:
A) 2xy-5yz+5zx+10xyz B) 2xy+5yz-5zx+10xyz
C) 2xy-5yz-5xz-10xyz D) 2xy+5yz+5zx+10xyz

3. WA IRAT &1 Tecdl sh oEl.

Arrange the following rational numbers in ascending order.

3 5 7

7" -14" 12
-3 =5 -7 -7 -3 -5 -7 -3 5

A)—,—,— B)—,—,— C)—,—,— D) IO AT /None of these
7 "14 " 12 12° 7 " 14 12° 7 " -14

4. i 2ATfoT At == =T THIOT 4:5 3R, 12 SWiHR caieat SEre THIU 5:6 B, T 2 AW G
= ferdt g ?
A) 49 B) 60 C)50 D) ITd<ht AR

The ratio of ages of Reena and rohit is 4:5 After 12 years their ratio becomes 5:6 What will be the
age of Reena after 2 years?
A) 49 B) 60 C) 50 D) None of these

5. 3,5,8 SATMUT 12 A WHTCATER 2 STeh! STecTeh TEUTHI UTE 31eh! HISATA Wil EEAT hiuTd! ?

A) 99962 B) 99958 C) 99960 D) 99999
The greatest five digit number which when divided by 3, 5, 8 and 12 will have 2 as remainder?
A) 99962 B) 99958 C) 99960 D) 99999

6. w(15)°x(15) = (15)" ,mx =2

A) 6.5 B)9.5 C) 8.5 D) 7.5
£ (15)"° x (15)° = (15)"* then X = ?
A) 6.5 B)9.5 C) 8.5 D) 7.5

7 -
7. 55 1 TYUIERTS ToFheTi BUTAL <.
Convert the fraction into Percentage?
A) 35% B) 45% C) 65% D) 75%

8. TSk TN R EEAT § 2018 HED 6050 AT AREEIT A= < Ufdas 10% 3@ @ § 2016 @t
=N SeRaEat fohdt 318 ?

The population of a village is 6050 in May 2018, and it increases at the rate of 10% per annum,
what would have been it in May 20167
A) 5000 B) 6000 C) 5500 D) 4500




10.

11.

12.

13.

14.

15.
R

1.75 EFEIHIET™ 225 Hiewht STHeie! TUTiear fehel ?

A) 9:7 B) 7:9 C) 7:90 D) 70:9
What is the ratio of 1.75 hectometers to 225 metres?
A) 9.7 B) 7:9 C) 7:90 D) 70:9

ABCD gt ¥HeRYS diehiAma A=(2x + 20)°, B=(3x - 30) @ x = frelt?

A) 45° B) 40° C) 48° D) 38°
In a parallelogram ABCD A=(2x + 20)°, B=(3x — 30)° Find the value of x.
A) 45° B) 40° C) 48° D) 38°

10,000 &=t 2.91.2.91. 10 A 3 q9id 13000 F. TH 2, T AT WhA< &< 20 et auid
14,500 & 9 g ?

A)2 B) 4 C)4.5 D)6
The Rs.10000 at the rate of 10 P.C.P.A becomes an amount of Rs.13000 in 3 Years, In how many
years will be the same principal at the same rate amount to Rs.145007
A)2 B) 4 C) 4.5 D)6

@Telt fgetean srediaeA X = fehia et

Find X, from the figure given below.
D

x+30° Xo4 x + 20

A B
A) 24° B) 26° C) 28° D) 30°

40 A T AT 41 Tt Ueh SHURET ST ST=AdT= TRt ferdt ?

A) 42 G B) 49 Gt C) 89 G D) 98 &+t
The perimeter of the rectangle whose length is 40cm and a diagonal is41 cm is .................
A) 42cm B) 49cm C) 89cm D) 98cm

T AT IS 432 ST TS 72 37, T U &A1 216 T8 T Gad 91 shiutd ?

A) 180 B) 108 C) 144 D) 72

The L.C.M and G.C.M of two numbers are 432 and 72 respectively. If one of the numbers is 216,
What is the other number?

A) 180 B) 108 C) 144 D) 72

o afgor fasamaen 5 auit Wt R, 7 sty e st s 27 a9 g, @ e AT

ferett 2

A) 12,17 B) 11,16 C) 14,19 D) 18,23
Sushma’s sister is 5 years elder then her, 7 years ago, the sum of their age was 27 years, what will

be the present ages of them?
A) 12,17 B) 11,16 C) 14,19 D) 18,23




16. R A=16, C=8, D=3 a7fot B=9 W C+AxB+D=?
A) 56 B) 54 C) 72 D) 27
If A=16, C=8, D=3 and B=9, then C+ A x B + D=?
A) 56 B) 54 C) 72 D) 27
17.  TETeitel 99ATa 99 Feegrean Swft Jumdt deeen shiovdt ?
Which number will replace the question mark in the following Question?
76 (39|47
49| 7 |92
6311585
A) 55 B) 45 C) 39 D) 35
18.  fowma umia stesa.
AC, DF, GH, JL, MO, PR
A) GH B) DF C) MO D) JL
Find the odd man out.
AC, DF, GH, JL, MO, PR
A) GH B) DF C) MO D) JL
19.  Uehl Hichideh WT9d FRANCE @1 viee UIZMXV 3@ feifgama, ot <= v INDIA 21 9Tes shat
forge ?
A) MNRWZ B) RMRWZ C) RWRMZ D) RMWRZ
In one coded language FRANCE is written as UIZMXV, then how the word INDIA is written in the
same coded language.
A) MNRWZ B) RMRWZ C) RWRMZ D) RMWRZ
20. R 26 SHER 2002 TR AHER 9 @1 26 THART 2004 ATEA! SHivTdar aR A5 7
A) SFHER HEEEL C) HT5aR D) FUER
26thJanuary 2002 was Saturday so what day it on 26" January 2004?
A) Monday B) Sunday C) Tuesday D) Wednesday
21, TR —TIUN +, + U —, — OIS X, + U + @R 9 X 5-7+7+8="?
If — stands for +, + stands for -, - stands for x, + stands for + then 9 X 5-7+7+8=?
A)5 B) 8 C)6 D)9
22. YA ST SRV STaHT G=ianqg et

Choose the correct mirror image of the question figure from the options.

g 3hl/ Question Figure :

.

Iea 3ATheAT/ Answer Figures :




4 (0

A) B) C) D)

23. qantnnsgﬁh%é@aqpawmnavﬁé@i3n%a:

T 5En-a1ar35n:ﬂ@kaan?ﬁzﬁaraﬁmHTans:aina?

Two Positions of a block are shown :
0

When 5 is at the top, which number will be at the bottom?
A)?2 B) 3 C)5 D)6

24,  TETCH 3TTShetd UeRUT fehelt <R o1 ?

How many squares are there in the given figure.

A) 34 B) 30 C) 28 D) 32

25. el SPATA TeATegred ST shHT AUTT SATehd! Uiy she,

Find which figure will come at the place of question mark from the options.

?

g B s,

26.  ETCTUeh! ShIVTT o SRt oW, T, f91eTeh e UTEm Haiy guifadi ?

Which of the following diagrams represents the relationship among male, female, and teacher?

00 Q.9 ,©

HEAT: WeAter TeATd Ufgean Ugren ga=at Ul e 9y e, qura say fae=an ugren <o uqweh o,
TR TyATegTed SRt ot vaie Feret.

Instructions: In the below questions there is some relationship between the first and second term, similar
is relationship between the third and fourth term, Find the appropriate alternative at the Question mark
Place.




27.

28.

29.

30.

31.

32.

33.

34.

LMQS : 12131719 :: MQJ :?

A) 171170 B) 171910 C) 171310 D) 131710
6:18::14:7
A) 84 B) 70 C) 98 D) 112

T : W :: T2 : ?

A) T B) U5 C) @E D) &
Mango : Fruit :: Potato : ?
A) Fruit B) Root C) Trunk D) Flower

WA SATShdTen | Yol huaTeist are uaia fHaet.

Find out which of the option will complete the figure matrix below.

—+ 3K |3
O I8
Pk ?
O oo 3
ap C c3 oo oo
= _
A) O B) L—— Q) = D) —=

WA HEATHTEAT YUT SHUATETS! Teseiet! &t .

Choose the missing term to complete the given series.
0,3,8,15,24,35,48,63, ?

A) 80 B) 79 C) 83 D) 93
34 44 13
216 184 7@2
12 22 6
A) 18 B) 15 C) 12 D) 10
TETA F ST SAThelt e,

Find the odd figure out.

JH . LA X

AT T STl ATUAT et ST Tatarqd Ine.

Find out the water reflection of the question figure.

V%
(- )




H> H>
NG 2 (A S
A) B) ) D)
35.  ehT INTdIeT fehell AR 30 fea@me sEam?
How many months in a year have 30 days each?
A) 4 B) 5 C)6 D) 7
36. WTeiel T99Td faciedn uaiaiiet S arer-a=ir aTo.
TeTeh Tehviaic HEd! UTgU. .. ............
A) TS e B) SIFAT dct ITA0  C) ek H0 D) BTl SU0Y
37. Wiciicident fAfgemun uswherert visg shivm ?
A) foig B) SR C) T D) STTeat
38.  WciieTuehl QY 915q ShIUTT ?
A) |ag B) Seqehdl C) Teteq DELF
39. ETelier visgren fareegnedt vise fotat.
3R X
A) FER B) 3TIR C) TaTEIR D) TR
40.  Teciem YeqHTETERE Uk YIsg U INE.
TerceaTean TReTUTETS she dieree o -
A) TS B) HT=it C)ae D) Wdeh
41, AU HIUTAT ST AT ?
INRIGE T B) HIBTHIABT OIEEED D) Yurgum
42, SORISE A1 YTEETA fohelt ST SATRA ?
A) TR B) UT=l C) |a D) ITUHT AT
43, Choose the correct sound made by an owl :
A) Whoop B) Hoot C) Grunt D) Growl
44, Mark the option with the correct spelling of the given word:
A) Vocablary B) Vocablery C) Vocabulary D) Voceblory
45, Find the synonym of ‘Jealous’-
A) Pinch B) Sprinkled C) Blooms D) Envious
46. Identify the underlined part of the sentence and choose the correct option.

According to me, she should work hard.

——
(o)}
| —



47.

48.

49,

50.

51.

52.

53.

54.

55.

A) Auxiliary B) Object C) Complements D) Modals

Fill in the blanks with most suitable option.
Saurabh drives at full speed .......ccceeeeeieeeveeceeee, the highway.
A) Into B) out C) along D) about

Tick the correct punctuation marks:

How lovely the climate is

A) How lovely the climate is! B) How lovely the climate is?
C) How lovely the climate, is D) How lovely, the climate is!

Choose the correct alternative of plural form.
FAMILY
A) Family B) Familyes C) Families D) familys

Give one word for the following expression.
A violent wind which has a circular movement.

A) breeze B) storm C) whirlpool D) hurricane
WICcTUeh! ShIVTAT STUT FRUEUTRT A& ?

A) ISH B) g% C) WR D) AT
Which one of the following is not reptiles?

A) Frog B) Earthworms C) Crocodile D) Snake
SARTHereh HeT 7 sheft Tt et St ?

A) 16 ST B) 5 fe@=R C) 13 TR D) 2 ATreIaR
Which of the following day is celebrated as world Soil day?

A) 16" October B) 5™ December C) 13" October D) 2" October
ATIUTAIER HITT ST ShTdTd ?

A) URT B) STcehigTA C) wAfeeh D) A aTifUT B
........................................ is used in a thermometer.

A) Mercury B) Alcohol C) Plastic D)AandB
Uvfren sher st ereen ?

A) T g B) feraer C) SHIshieH D) \it4 Sleed
Who discovered the Cell?

A) Robert Hooke B) Theodore C) Democritus D) John Dalton
WTATCTUhT ShIUTAT TFST ST ATET ?

A) TTEeA B) fude C) | D) Qg
Which one of the following is not an alloy?

A) Tungsten B) Brass C) Gold D) Steel




56.

57.

58.

59.

60.

61.

62.

63.

64.

£l AU Ueheh WTeTIcTdeh! ShIUTd 31T ?

A) e B) 768 C) 53 D) sheTdt
What is the unit of measurement of sound?
A) Newton B) Hertz C) Joule D) Calorie

R 2.3 27 AR 8 et wrea firesaeil T ara=n Ukt aret fohdt gget ?

A)3.123 B) 31 T C) 10.3 24 D) A 3ot C 3=t
If the 2.3 tons of sugar is added with 8 Quintals of sugar then total mass of sugar is:
A) 3.1 tons B) 31 Quintals C) 10.3 tons D) both Aand C

TIHUTHTHT HTET BT TRTHIERTE Y&t ShRUTe FHral.
A) TR BT UTe ST, B) TRTHRER g1 W3 WEeh 311 TgU 31 otarem g
C) TATHIERTER 3TFATEN Teeh- URUTH gial. D) SicTaeht @

Why marble is not good for kitchen Platform?

A) Marble is white B) Marble is soft rock.

C) Acids reacts with marble easily. D) All of these
WeTicTieh! ST Usheh ShIUTd ?

A) el B) shica C) afcw=a D) WRAEIEE
Which of the following is the unit of heat?

A) Calorie B) Kelvin C) Celsius D) Fahrenheit
ferdma uata Fee.

Identify the odd one among the following?

A) CO, B) SO, C) NO D) SO3

WA IeTUeh! HTd ST /T TgUeh hIUTAT ?

A) SO, B) CO, C) cO D) NO,

Which among the following pollutants is the most harmful?

A) SO, B) CO, C) CO D) NO,

AT TERTHED VT Jiall 0.

Afafdmfoega B) e c) fearfos D) TSt

Which type of energy is contained in a stretched rubber band?

A) Static electric B) Electrical C) Potential D) Kinetic

gt gEd TIETS SIVTIhIUTA 3TTel ?

A) 3THER T 3 B) WEMR & g9 C) T & IRIME D) TR AT

The second battle of panipat was fought between whom?
A) Akbar and hemu  B) Jahangir and Hemu C) Humayun and shershan D) none of these

frgTiées YeUTveRTe! WGy hioTen fegema o ?
A) Tt B) SiRTIaTg c) e D) TR




65.

66.

67.

68.

69.

70.

71.

72.

In which district historical Grishneshwar temple is situated?

A) Hingoli B) Aurangabad C) Beed D) Nashik
SHFTIZEUT TAATA TIETE HIVTIHIVTT FATEH 7

AdReciame B)Rugeamamie C)dRewhiass D) Ry geam a oiw

The battle near Srirangapattan was fought between -

A) Hyder Ali and Marathas B) Tipu sultan and mararthas

C) Hyder ali and British D) Tipu Sultan and British

JATHSINE =TT g1 THITTeHT AT I el ?

A) ST B) qehea™ C) STFITIUTEAT MEEIC
Ahmadshah Abdali was the ruler of ---

A) Iran B) Turkestan C) Afghanistan D) Punjab

Had 25 T4 AUSTIN HEH HAd 3.9, 1707 AN ST ..o A e FTE.
A) ST B) 9uI C) o D) 3TgHETR
After 25 years long conflict with Marathas Aurangzeb died in ........................ in 1707.
A) Aurangabad B) Pune C) Wai D) Ahmednagar
AT T voveeeevvannnnns 2 he T

A) T B) arEleAT C) I D) fmar
................... Was the seat of Jat power.

A) Mathura B) Ayodhya C) Agra D) Hissar

1869 HEA BAUA! AT HERISTER TIEATST ShHIUT hedl ?

A) FTTER SUUTHTS: |13 B) WETeHT ST Tt

C) IER aTqa fareqd D) S1. I1aTHRT JagR

In 1869 who composed a powada on Chhatrapati Shivaji Maharaj?

A) Shahir Annabhau Sathe B) Mahatma Jyotirao Phule

C) Shahir Bapurao Vibhute D) Dr.Babasaheb Ambedkar

GTS; ALV “WTeAH I hivTt IW hed ?

A) &R B) T&a SRR C) TEATA D) &M ageRT
Who established ‘Khalsa Dal’ ?

A) Guru Nanak B) Guru Teghbahadur C) Guru Arjun D) Guru Gobind Singh
| THRTH TGRS ST ThivTd ?

A) 791t B) Waut Q)% D) UeTq
What is the birth place of Sant Tukaram Maharaj?

A) Narshi B) Paithan C) Dehu D) Pandharpur
WTATCTUh! ShIUTAT Joe STEIITE T id SHT Tega ?

A) O B) STeR C) SERR D) 3TeheR




73.

74.

75.

76.

77.

78.

79.

80.

Which Mughal Emperor was not a lover of Music?

A) Aurangzeb B) Babur C) Jahangir D) Akbar
Fagur fvda araeruTa IR TSUEl TEEER e I

A) Tt ATETAITER B) HHIER

C) Fasus smammeR D) TrsgueiiaR

Who is responsible for conducting elections in a fearless atmosphere?

A) The supreme court B) Parliament

C) The election commission D) The president
WRATSAT WAL NG TROT. ... qHEE A

The constituent Assembly of India consisted of how many members?

A) 399 B) 299 C) 499 D) 78
AFAU TAHT FHTUA RI0T ST ?

A) GiH= HETeH B) SR ATAG. C) HR1 AR D) ITUHT AT
Who is the current speaker of Loksabha?

A) Sumitra Mahajan B) Venkaiah Naidu  C) Meira Kumar D) None of these
WTcieTieh! Tehtel AISt SieET.

A) Tt — TR B) foraTwes - i

C) g181 — A9 D) hTS], — HETIRYeR

Choose the wrong pair:

A) Orange - Nagpur B) Custard Apple - Beed

C) Grapes - Nashik D) Cashew — Mahabaleshwar

WETH IqT IERTC .. =T GHE9T gl

A) A=A, B) TAHFTA C) Erat D) afieTdeh! @
The word media includes

ATV B) News Papers C) Radio D) All of these
WICITTUh! ThIVTA ATcTeh TEhTel IETETuT TE! ?

A) TToft B) S ET C) SHH D) W
Which of the following is not an example of biotic component?

A) Animals B) Plants C) Lands D Human
SHIUTEAT IR Tk St Shedl SATal ?

A) Bl It B) SATAT Jiet C) TETeA It D) WesaT=l It

In which of the following type of farming are the crops rotated?

A) Horticulture B) Commercial C) Intensive D) Plantation
Jelt AT SHITA YSRATT 91 ShIUTaT ?
A) THTEA B) AR C) Su™= D) WA

10
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81.

82.

83.

84.

85.

86.

87.

88.

Which of the following is the most advanced country as far as agricultural technology?

A) Israel B) America C) Japan D) India
.................... T TN 31 faeie ved el

A) T B) TG C) ST D) TeTet
................................. river originates in Tibet

A) Kaveri B) Yamuna C) Brahmaputra D) Godavri
............... e Y TSI qrerET THTOT AT A

A) GHehgA ufgaiens  B) STAMUIehSH IcRehs C) Scaiehad fMUiehe D) Uivemishad qaiehs

The rainfall in the Prairies decreases from-

A) East to west B) South to North C) North to south D) West to east
ATHIMEN TATLT SRIRTE IS FTeA! ?

A) HU B) wieA C) v\ D) Sferrd
Where did democracy first flourish?

A) Cairo B) London C) Paris D) Athems
WIeeTueh ShivTeat g faasit geaier G o TEHH TH Seasie st ?

A) 21 9T & 21 AR B) 21 Wl & 23 TR

C) 23 W & 21 AR D) 22 Wl & 23 UL

On which of the following days daytime and nighttime are same all over the earth?
A) 21° March and 21% September B) 21°" March and 23" September

C) 23" March and 21 September D) 22" March and 23" September
FTATEROITA TGS S0 fehelt 31T ?

A) 22% B) 79% C) 76% D) 78.03%
What is the composition of nitrogen in the Atmosphere?

A) 22% B) 79% C) 76% D) 78.03%
ST Faid 39 Yaes! hiuTed NegaTd S1g ?

A) TR B) gt C) shafgan D) JTgHSTETE

In which district is the world’s tallest statue located?

A) Gujarat B) Narmada C) Kevadiya D) Ahmedabad
g SUT g1 WeBTS hIUTe WeaTolt Heiferd 212 ?

A) 2= B) SefHeq C) ferehe NEZES

With which game Rohan Bopanna is associated?

A) Tennis B) Badminton C) Cricket D) Kabadddi
TEATS TEIHAT ThI0T ST ?

A) G UrEete B) A9TIeh Tigentd C) HHEATA D) U1 STae
Who is the Chief minister of Rajasthan?

A) Sachin Pilot B) Ashok Gehlot C) Kamalnath D) Bhupesh Baghel

( 1
{ )



89.

90.

91.

92.

93.

94.

95.

96.

FAIT LT B hg ShITTeAT TSI AT ?

A) TfereETg B) SATLIIQT C) TS D) ScaSIedl

In which state the Satish Dhavan space center situated?

A) Tamilnadu B) Andrapradesh C) Rajsthan D) Uttarpradesh
FRIYE 2 HIUTE T e 3R ?

A) B B) ATfesTg. C) TR D) ST
Kuchipudi is the dance from of which state?

A) Kerala B) Tamilnadu C) Karantaka D) Andhra Pardesh
WRATS Ufget AUt hI0T et ?

A) S1.T<1g T B) 1. ULTHWT

C) =t UTerTa 3yre D) SETEATA A&

Who was the first president of India?

A) Dr.Rajendra Prasad B) Dr.RadhaKrishanan

C) Dr.Panjabrao Deshmukh D) Jawaharlal Nehru

14 =t Y& gichl forvereraes Taert shivtean s et ?

A) feeett B) ufgem avTrer C) anfewm D) HERTZ

14 Hockey men’s world cup tournament was held in......................

A) Delhi B) West Bengal C) Odisha D) Maharashtra
SIS ¢ ITE HIUTCA TEI=A1 HISTER T8t 3718 ?

A) 737t T B) THaT <t C) Tl <t D) ShTadl A<t
Hyderabad is situated along the banks of the ........cccoeeveeeeenns

A) Mushi River B) Narmada River C) Godavari River D) Kaveri River
foreT=t Uamem ot erga ?

A) for s B) 2! SAISR C) efege HuRA D) &ET

Who is the Prime minister of Britain?
A) Leo Varadkar B) Tony Blair C) David Cameron D) Theresa May

WA eTteh! ShiuTdl 291 SAARC HEEA= e T8l ?

A) A B) UTfeREaT= c) /== D) sfteieht
Which one of the following countries is not a member of SAARC?

A) India B) Pakistan C) China D) Shrilanka
BCCI = feranfia &9 shiurd ?

BCCI Stands for -

A) Board of cricket control in India B) Board of cricket council of India
C) Board of council of cricket in India D) None of these

12
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97.

98.

99.

100.

WITTUeR! ShIVTA SIS Seaus HTat 2

A) The Statesman B) The Hindu C) Punjab Kesari
Which one of the following is not a English newspaper?

A) The Statesman B) The Hindu C) Punjab Kesari
WRATS SFAHT ERETUTHAT ShIUT TR ?

A) ITEUT A B) FSHT TS C) T f&m
Who is the current defence minister of India?

A) Arun Jaithly B) Sudhma Swaraj C) Rajnath Singh
WRATA URUT fehelt T 7R ?

Total number of states in India are?

A) 29 B) 30 C) 28

ST Te{ereh THehEREa 291 ShIUTdT ?

A) IR B) WRd C) W

Which country has the largest population in the world?

A) USA B) India C) Russia
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D) Lokamt Times

D) Lokamt Times

D) fFrien famm=m

D) Nirmala Sitharaman

D) None of these

D) e

D) China
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